e 31., - DRILL CHART
D POST #] 'L”
% ——
POST “1~4" 14 r 3 |T-2 1/16"
1" 4 -2 3/8°
2" || —6 3/8"~
1h i
b EN |‘| S 1 4
5_
2 Il
| I |
* Fany ” €9. _E_
I
uLu ] I'I 1
PER CHART “ s
8
L (TYP.
3 |I| €£r ( )_:_
2 1§u ) ” ‘f
(
(IYF) I 13,
8-0" wexesA. A | 716
- FOR 1 “L—
—J\\(—- GALV. -
HI (TYP.) \9

]

CONNECTION PLATE DETAIL

L
e

This Cap Needs to press fit
Inslde of, a 47x8"x5/16" Tuke

_

El SR ¥ 7y 8’

|
T a4
.\3é
4

3 A
1 au
14113
11"
.
—] 3" e Szu L_
1”x1* CLIPPED CORNER:
8 ol | \ 63
3T6 28 ] 1{6
W ¢ @ +
1'-1-11%'I $ 113
l " Bl
¢ g
3'x6’ CLIPPED RNER7\ . u
X o0 \ g1 ox) \_@% 20

ADD THESE:
<4) ¢1" HOLES

MODIFICATION TO P/N 5143.40056
TO CREATE P/N 5143.90056

ON:

This Cop Needs to press fit

CONFORMANCE

BY: Jennifer Fitch DATE: 05/30/2014

116' inside of o 4’x4"x1/4” Tube BILL OF MATERIAL <621.72) WW-1
w.d 4’_‘1 aTY DESCRIPTION ASTM DESIGNATION
I
I [ l e 1_[THRIE BEAM TERMINAL CONNEGCTION <10 Ga) AASHTO M180
g ol 1 [THRIE BEAM TRANSITION @ 7'-3 1/2’ <10 Ga) AASHTO MI180
El 3} 42 u/—“s ol ﬂ 1_|[CONNECTION PLATE A36 — M270 GBIl
| a3 2 |l2’ 6’ THRIE BEAM <12Ga) AASHTO MIB0
| 4 |W6X25 POST © 8'-0’ (PUNCHING VARIES — POST 1~4) AS72 Gr. 50
— 1 |DEFLECTOR PLATE (APPROACH OR TRAILING) A36
il 1 |8" X 4° X 5/16” RAIL @ 9'-4" AS00 Gr. B
'%1'%x3/16* Plate 4eo.
Puneh 2% In e 1 |4 X 4° X 1/4" RAIL @ 9'-4’ AS00 Gr. B
1 |8 X 4° X 174’ END CAP A36
3 1 |4 X 4° X 174" END CAP A36
ol 1 [77 x 3 x 3/8° SPLICE TUBE @ I' 11 3/4 AS00 Gr. B
B 1 |3" x 3" x 5/16° SPLICE TUBE @ I’ 11 3/4° AS00 Gr. B
i 8 |¢ 3/4° SCH. 40 PIPE @ 1/2 AS3
A 8 |8 5/8° X 1 3/4° HEX BOLTS A307
2 1 8 | 5/8° FLAT WASHER, HARDENED, TYPE A, PLAIN WIDE A307
‘I 7 | 374" X 6° CARRIAGE BOLT, & NUT A307
1 5 1 |¢ 3/4° X 2° CARRIAGE BOLT, & NUT A307
]— 19 |# 5/8° X 7=6” BUTTON HEAD POST BOLT, PLATE WASHER, F.W. & NUT__ |A307, A36, F844 or 307, & AS63
Vermont Agency of Transportation & IR P— 32 [¢ 5/8° X 1 1/4” BUTTON HEAD SPLICE BOLT, RECESSED NUT & F.W. A307
e 19 |3/16” SPEC. PLATE WASHER € 1 3/4” X 3 A36
RECEIVED 16 |¢ 374" X 6 ROUND HEAD BOLT, F.W., LOCK W. & NUT A449, 436, ASME BiS.2ll, & AS63
10 |6 X 8 wOOD POST @ 70" SUPPLIED BY OTHERS
May 16, 2014 9 |6 x 8" wOOD BLOCKOUTS @ 1'-6" SUPPLIED BY OTHERS
and Checked for 1 |6 X 8 wOOD BLOCKOUTS @ 1'—2~ SUPPLIED BY OTHERS

HARDWARE APPLICATION

P(evm'\[in TorthAL
Type Lod«si\)wf"

TYPE A WIDE PLAIN WASHER
(13/16" x 2" x 5/32")
HEX NUT a -
o 23/ —\ 118"~ 112 18"
Y e o [—3/8" MIN.
1/8"
A 449 (TYPET ONLY FULL DIA, BOLTS
ROUND HEAD BOLT WILL BE ALLOWED

EXPANSION SPLICE FOR: TS8x4x3/16”

8 3/4'~

/-TS7x3x3/8‘

2= =

E_ @@.824 (REF)

@1,050 (REF)

3/4" SCH. 40 PIPE SPACER

EXPANSION SPLICE FOR: TS4x4x1/4"

$5/8' TAPPED HOLE (2)7\
] 3/4'—\ [

BN BN

Qry DESCRIPTION ASTM DESIGNATION APPLICATION
A | 8 |6 5/8° X 1 3/4" HEX BOLTS A307 USED IN SPLICE TUBES
B | 8 |8 5/8" FLAT WASHER, HARDENED, TYPE A, PLAIN WIDE A307 FOR SPLICE TUBES,
C | 7 |? 374" X 6 CARRIAGE BOLT, & NUT A307 TERM, CONN, & CONN. PLATE TO RAIL
D | 1 |3 3/4 X 2’ CARRIAGE BOLT, & NUT A307 DEFLECTOR PLATE TO CONN. PLATE
E | 19 |2 5/8 X I'=&” BUTTON HEAD POST BOLT, PLATE WASHER, F.W. & NUT__ |A307, A36, F844 or A307, & A563 |THRIE BEAM, 70 OFFSET BLOCK, TO 6x8” POST
F | 32 |¢ 5/8" X 1 174" BUTTON HEAD SPLICE BOLT, RECESSED NUT & F.W. A307 FASTEN PANEL COMPONENTS TOGETHER, CTHRIE, TERMINAL CONNECTOR, TRANSITION SECTIOND
G | 19 |3/16" (SPECIAL) PLATE WASHER @ 1 3/4” X 3 A36 USED IN PANEL VALLEY, W/ 18" BOLT
H | 16 |# 374" X 6’ ROUND HEAD BOLT, FL. WASHER, LOCK W. & NUT A449, F436, ASME B18.211, & AS63[FASTEN 4X4 & 4X8 RAIL TO RAIL POST 1~4

_/-T83x3x5/16'
a»
AS00 Gr, B

. < |
Confiren
/ =N 1/_58:___3.
1/-9%"
I , ASTM A36 1,"11%.
1n 3u
32F 82 {(EF. : JI'E @ 5/8' NUT(@ OUTER HOLES ONLY)
21— 5, 003390055 TACK WELD
; '-1-1—6- /
m
, ¥ |
1 ‘\\l DEFPL-LTXT e ——— ===
. , |
|—g—| Ms/16* x 1 1727 sLoT [m{- _~+__=___“__m_
03— 2 EA,

DEFLECTOR PLATE DETAIL

DRAWINGS ARE FOR COMPONENTS,

APPROACH SHOWN, TRAILING-OPPOSITE BEND

8 3/4”

SHOP DRAWING REVIEW

NSSEMBLE PER STANDARD S-360B

‘é' l— [0 REVIEWED AS REQUIRED BY THE CONSTRUCTION CONTRACT DOCUMENTS AI‘IJEFMVE#J‘ 62111-2)2 l SHEET 1 OF 4
CONFORMANCE TO THE DESIGN CONCEPT OF THE WORK, AND SUBJECT TP FURTHER LIMITATIONS AND
REQUIREMENTS CONTAINED [N THE CONSTRUCTION CONTRACT DOCUMENTS. APPROVED BY: 2 RAIL BRIDGE RAIL TO GUARDRAIL TRANSITION
CUREISTES: REVISEAND RESUBMIY L PRSI COAREGTED ROCHESTER, BRF 0162 (17) VT RTE 73 (MAJOR COLLECTORY), BRIDGE NO : 16, OVER CORPORATION BROOK
A 5 0 0 Lg)mquousb COMMENTS MADE ON THE SHOP DRAWINGS DURING THIS REVIEW DO NOT RELIEVE CONTRACTOR TOWN OF ROCHESTER, COUNTY OF WINDSOR, VT
FROM COMPLIANCE WITH REQUIREMENTS OF THE DRAWINGS AND SPECIFICATIONS. [THIS CHECK IS ONLY FOR REVIEW 2 u
OF GENERAL CONFORMANCE WITH THE DESIGN CONCEPT OF THE PROJECT AND GENERAL COMPLIANCE WITH THE R No‘ DATE DESCRIPTlON BY R No‘ DATE DESCRIPTlON BY
INFORMATION GIVEN IN THE CONTRACT DOCUMENTS. THE CONTRACTOR IS RESPPNSIBLE FOR: CONFIRMING AND E EP| E
________________ CORRELATING ALL QUANTITIES AND DIMENSIONS; SELECTING FABRICATION PROCESSES AND TECHNIQUES OF V V
5/8' NU.l (e DUTER ;::]:;:l;?;::;;;goozv::::::Z:IS WORK WITH THAT OF ALL OTHER TRADES; AND PERFORMING HIS WORK IN A - S ’_4,,,""‘ DRAWN 51514
HOLES DNLY) o ) (DB checken | oL | arene
TACK WELD Job Number:_ O 7.8 21 /a3 ELDERLEE,INC, b o
: VHB |riowier 3 maare &Y 04KS CORNERS, NEW YORK 145718 SUFRUEDIL - :
| TS _ o - 30-14 E-Mail: dlong@elderlee.com SCALE | SCHEMATIC
} ! i ate: Tel: 815<789—-6670 Fax:815—789-6616 DRAWING NO. F.R.L. ROCHESTER, TR16



Jfitch
CheckForConformanceFields


» 3'-42"—’
1 -51

olal
1'24

TRAILING RAIL

iul
5

%2

3/4% x 2 1/2" SLOT (16x) g N
@) J4e) ) @)
[ O /’ O (@] @)
T =S ————-—= ————————— — e —-——-——= — - ——= —=-———-—- ————————— ————————————————= —ca—-—
75 Q - o o
8 = - O O
4. Ee—es——————— —€=5 —-—————~— — e —-———-——~— — - —— - —_— - —— ———————— ——— e — co—-—
| (@) @) (@) o
A
o o O @)
6-3"(TYP)
13-64"
89/38”(82 Xl) fe SHET Vermont Agency of Transportation
RECEIVED e
ON:  May 16, 2014 o) B :
o and Checked for 4
9-4" & CONFORMANCE — 78"
%Q BY: Jennifer Fitch DATE: 05/30/2014 ——5'-94—1"
7!_1 1 Z" /\,\"/\’ | 5"61"
" ' n & '102: 4
) L » & _ N _79n
10 7'-8 3 SHOP DRAWING REVIEW
4 4 3 [0 REVIEWED AS REQUIRED BY THE CONSTRUCTION CONTRACT DOCUMENTS AND APPROVED, BUT ONLY FOR 6_" 3 74
‘—5"91" it e e B sl e 4
6—" 5 L] - 6_" [ REJECTED kREVISEAND RESUBMIT [ FURNISH AS CORRECTED .
4 4 E e || 277
°—3 o " CHRRAING 410 MRITUS. 1 SOrIANE SR SatIAtN, Brcenians AN VMM, B
2_"—“ 4 ' _" z::;;;:‘l;?;(:g;:gooﬂnbvlm:::i:IS WORK WITH THAT OF ALL OTHER TRADES; AND PERFORMING HIS WORK IN A " @1 3/1 6" TH R U (8X)
4 3 '-4 Job Number: _ S 72827 /_— ||
4 VH B Reviewed By: £ YN ponl— ! T
! ] pate:__ & =30 -1Y | ’ \\ "
1'-55"- L o] @1" THRU (3X)
@ 13/16" THRU, (8X) 4 Constder ‘7/&" @1 1/8"(+1/16 /-0") x 3 1/2" (2X)
1_5!! / _ : 1 "“ZZ" 5 - _2n | — BO-:H:-OM ONLY
: ' 1 = | ' — — —
[ 8 i 4~ P s —— 16 1 i 8'" 2"J- '—2'" T (1/2" DRAIN HOLE
I P N ' — LI BOTTOM ONLY

@1" THRU (4X)

Considec To'5( @1 1/8")+1/16 /-0") x 3 1/2" (2X)

BOTTOM ONLY

1
2n_]
- BOTTOM ONLY

—ADD PRESS FIT END CAP
THIS END ONLY

 ———@1/2" DRAIN HOLE

wWw 1 & 4

—ADD PRESS FIT END CAP
THIS END DONLY

Ww 1 & 4

ITEM g 621.72

———elnei]
1442
118

SHEET 2 OF 4

APPROVED BY:

4 RAIL BRIDGE RAIL T0 GUARDRAIL, TRANSITION

ROCHESTER, BRF 0162 (17) VT RTE 73 (MAJOR COLLECTOR), BRIDGE NO : 16, OVER CORPORATION BROOK
TOWN OF ROCHESTER, COUNTY OF WINDSOR, VT

Tel:8315-789-6670 Fax:315—789-6616

R|NO. | DATE DESCRIPTION BY| R [NO.| DATE DESCRIPTION | BY]
E ER| E
\ \'
Pon @ SCERTIFIED]|_DRAWN E.P. 5/15/14
T ELDERLEE,INC. [Nj=mncck 10\:;2(:0}353 DL | 5/15/14

QY O0AKS CORNERS, NEW YORK 14518 : .

E—-Mail: dlong@elderlee.com SCALE | SCHEMATIC
DRAWING NO. F.RL ROCHESTER, TR16



Jfitch
CheckForConformanceFields


BG203
C

END SECTION

24° APPROX,
17 11’
%‘/
Y
E —_—
\_l|/ ! =
! 8 12 !
l |
o

2143.00085

2"

4"
D

8:" 6" |

—

116

3

=3

W W
W W

c
3

29/32' x 1 178’
¢4 SLOTS REQUIRED)

BILL OF MATERIAL <621.72) WW-2

CHECK IS ONLY FOR REVIEW
AL COMPLIANCE WITH THE
LE FOR: CONFIRMING AND
ES AND TECHNIQUES OF
FORMING HIS WORK IN A

n &
wE2

[J FURNISH AS CORRECTED

REVISE AND RESUBMIT
B MNeore

S8 2T

S£-30-1Y

'S MADE ON THE SHOP DRAWINGS DURING THIS REVIEW DO NOT RELIEVE CONTRACTOR

CONTRACT DOCUMENTS. THE CONTRACTOR IS RESPONSI!
1ES AND DIMENSIONS; SELECTING FABRICATION PROCES!

QUIREMENTS OF THE DRAWINGS AND SPECIFICATIONS. THI:
WITH THE DESIGN CONCEPT OF THE PROJECT AND GENE|

hhhhh

SHOP DRAWING REVIEW

[J REVIEWED AS REQUIRED BY THE CONSTRUCTION CONTRACT DOCUMENTS AND APPROVED, BUT ONLY FOR
CONFORMANCE TO THE DESIGN CONCEPT OF THE WORK, AND SUBJECT TO FURTHER LIMITATIONS AND

. REQUIREMENTS CONTAINED IN THE COﬁSTRUCﬂON CONTRACT DOCUMENTS.

[ REJECTED

Job Number:

VHB [resme

Date:

RELATING ALL QUANTI

GENERAL CONFORMANCI
'ORMATION GIVEN IN THI

=

CONSTRUCTION; COORDINATING HIS WORK WITH THAT OF ALL OTHER TRADES; AND PE

CORRECTIONS OR COMMEN
'OM COMPLIANCE WITH R
SAFE AND SATISFACTORY MANNER.

gt

F
O
IN
Col

Tu

&~

7§"

BO TOM ONLY

Consider 782

@1" THRU (4X)

|
53]
21 6 Vermont Agency of Transportation

RECEIVED

ON:  May 16, 2014

+1/1 6/-0" x 3 1/2" (2X)

and Checked for

WA CONVEX RAD.

CONFORMANCE

8.5

@1/ " DRAIN HOLE
BOTTOM ONLY

2u_. L

ADD PRESS FIT END CAP—

THIS END ONLY

2!!_'

BY: Jennifer Fitch DATE: 05/30/2014

aTy DESCRIPTION ASTM DESIGNATION
1 _|THRIE BEAM TERMINAL CONNECTION <10 Go) AASHTO_M180
1 |THRIE BEAM TRANSITION @ 7'-3 172’ (10 Ga) AASHTO M180
1 |[CONNECTION PLATE P A36 — /MZ70 Le36
ROUNDED “W” BEAM 2 |12 6" THRIE BEAM <12Ga) W/ PARTIAL(!O’)RAD AASHTO M180 DETAIL SHOWING PIE CUT LOCATIONS @ WW 2,
1 |ROUNDED “W’ BEAM, END SECTION = AASHTO M180 FOR 46==8” CONVEX RAD. ON FACE 0OF RAIL.
4 |W6X25 POST @ 8-0’ (PUNCHING VARIES — POST 1~4) AS72 Gr. 50 3[_(0
1 |DEFLECTOR PLATE (APPROACH OR TRAILING) A36 __10%" 16" 1.6 5 20 1'.10%"
1 [8* X 4’ X 5/16" RAIL € 9'-4° AS00 Gr. B
1 |4 X 4° X 174" RAIL € 9'-4" 4500 Gr. B
1 [8" X 4° X 1/4” END CAP A36 N T e ________? If' e _?_( q}___________i e
1 [4” X 4’ X 1/4" END CAP A36 T Ad I A A I ] S I A I I — |
1 [7” x 3" x 3/8° SPLICE TUBE @ I’ 1l 3/4° AS00 Gr. B B R I I I N I A )
1 [3° x 3’ x 5/16” SPLICE TUBE @ 1’ 11 3/4" AS00 Gr. B R ﬂ?& {F’ ¢ ?" ? I Bl **’.
8 |# 3/4" SCH. 40 PIPE @ 1/2* AS3 I HEH N \
8 |9 5/8" X 1 3/4" HEX BOLTS A307 l | | | | | |
8 | 5/8° FLAT WASHER, HARDENED, TYPE A, PLAIN WIDE A307 ; H - oy =
% 7 |# 3/4° X 6’ CARRIAGE BOLT, & NUT A307 R | L[N - S U I - | ____*11—|__
3 1 |# 3/4° X 2’ CARRIAGE BOLT, & NUT 4307 ——t ¢4¢ @'—Q f# ¢L? +
& 19 |# 5/8" X 1'-6" BUTTON HEAD POST BOLT, PLATE WASHER, F.W. & NUT _ |A307, A36, F844 or 307, & AS63
36 |# 5/8° X 1 174" BUTTON HEAD SPLICE BOLT, RECESSED NUT & F.V. A307
19 [3/16° SPEC. PLATE WASHER @ 1 3/4” X 3' A36
16 |# 3/4° X 6 ROUND HEAD BOLT, F.W., LOCK W. & NUT A449, F436, ASME B18.2L1, & AS63
10 |6 X 8’ wOOD POST @ 7'-0° SUPPLIED BY OTHERS
AB 10 FIT 1/32* LOOSE 9 |6 X 8’ wOOD BLOCKOUTS @ 1'-6” SUPPLIED BY DTHERS

: 9!_4"

7'-8

1 Qn_
5 '94

5"'61"

APPROACH RAIL

1n
4

_ 1|_21|

3"
—1-52

3! 44"

213/16" THRU (8X)—\

3!_.71"_1

7T
lu

1 Oz"
3"

64
_ZZ "

N

|
o—

I E 3 =
4."_r }
4||J__

35

i

72

C,DNHJC.I‘ —1/8“ 2

f+1/16 /-0") x 3 1/2" (2X)
B OM ONLY

@1" THRU (3X)/

' 2||_|

(3

—eD e fe——- :

WW
WW

a4
3

ITEM #: 62

8

w8’ CONVEX RAD.

8.5

1.72

BOTTOM ONLY

17..L —31/2' DRAN HOLE/ o

ADD PRESS FIT END CAP—

THIS END ONLY

2||_|

| sHEET 3 OF 4

APPROVED BY:

2 RAIL BRIDGE RATL T0 GUARDRATL TRANSTTION

ROCHESTER, BRF 0162 (17) VT RTE 73 (MAJOR COLLECTOR), BRIDGE NO : 16, OVER CORPORATION BROOK

TOWN OF ROCHESTER, COUNTY OF WINDSOR, VT

R|{NO. DATE DESCRIPTION BY| R [NO.| DATE DESCRIPTION BY|
E P E
\4 \'
£ DRAWN EP. | 5/15/14
ELDERLEE,INC. i@ ‘é’%ﬁt@%& CHECKED | D.L. 5/15/14
0AKS CORNERS, NEW YORK 14578 APPROVED | . :
E—Mail: dlong@elderlee.com SCALE | SCHEMATIC
Tel:315—-789—6670 Fax:315-789-6615 DRAWING NO. F.R.L. ROCHESTER, TR16



Jfitch
CheckForConformanceFields


SILL T MATERIAL PALPE) W o BILL OF MATERIAL (62172 WVW—4
Uiy DESCRIPTION ASTH e FIGHATION aTy DESCRIPTION ASTM DESIGNATION
1 VHEE Beah TERNINAL SONNECTION €U Go) AASHIT W0 1 [THRIE BEAM TERMINAL CONNECTION <10 Go) AASHTO M180
1_[THRIE BEAM TRANSITION @ 7'-3 1/2° <10 G AASHTD MISO . :
1D 1 [THRIE BEAM TRANSITION € 7'-3 172" <10 Go . AASHTO ML8O
I [CONNECTION PLATE A3 — M216 GE3G L
= — 1 [CONNECTION PLATE —— Stcroiaht A36 — 270 61236
2 |1z’ 6’ THRIE BEAM (12Go) W/ PARTIAL 8-10' RAD. AASHTO MI80 e — Ll
I 2 |12’ 6 THRIE BEAM <12Gw) W/ PARTIAL(8-10' RAD AASHTO Mi80
1 |[ROUNDED "W* BEAM, END SECTION AASHTO Mi80 P
i, | 4 |[WéX25 POST @ 8-0° (PUNCHING VARIES = PUST 14 AS72 Gr. 50
4 |WeXe5 POST @ 8'-0° (PUNCHING VARIES - POST 1-4) A572 Gr. 50
1 _|DEFLECTOR PLATE (APPROACH OR TRAILING) A36
1 [DEFLECTOR PLATE (APPROACH OR TRAILING) A36 EFLEC) ] cH
2alay ] OH 1 8" X 4" X 5/16’ RAIL @ 94 AS00 Gr. B
1 |8 X 4 X 5/16' RAIL @ 94 AS00 Gr. B kA : 2
i K - s 1 [# X 4 X 1/4’ RAIL @ 94 AS00 Gr. B
1 |4 X 4 X 1/4° RAIL @ 94 AS00 Gr. B R 4
b & o . 1 [ X 4" X 1/4" END CAP A36
1 |8 X 4" X 1/4" END CAP A36 LA .
R o 1 [4" X 4" X 1/4" END CAP 736
. . 4 g i - 1 |77 x 3 x 3/8° SPLICE TUBE @ I 11 3/4" W/ 4° BEND AS00 Gr. B
1 [/ x 3 x 3/8° SPLICE TUBE @ I’ 11 3/4 AS00 Gr, B A . : : ;
.5 , i . 1 3 x 3" x 5/16” SPLICE TUBE 6 I’ Il 3/4° W/ 4° BEND AS00 Gr. B
1 |3 x 3 x 5/16° SPLICE TUBE 6 I il 374 A500 Gr. B 2 L
2 L 8 |p 3/4’ SCH. 40 PIPE @ 1/2 AS3
8 |¢ 3/4” SCH. 40 PIPE & 1/2 A53 , :
e T L =22, 8 |6 5/8° X 1 3/4° HEX BOLTS A307
5 5/8" FLAT WASHER, HARDENED, TYPE A, PLAIN WIDE
8 |6 5/8° FLAT WASHER, HARDENED, TYPE A, PLAIN WIDE A307 5 -l : it
* FLAT 7 |# 3/4° X 6" CARRIAGE BOLT, & NUT A307
7 |# 374 X 6 CARRIAGE BOLT, & NUT A307 =
574 X 5" CAPRIAGE LTS WUT o 1T |6 3/4" X 2" CARRIAGE BOLT, & NUT 307
? r <y T
L S T A TE VASTER TV L T haoy A6 Foid o 507 Aoe3 19 |9 5/87 X 6’ BUTTON HEAD PUST BOLT, PLATE ASHER, P/ & NUT _[A307, A36, Fo44_or 307, & ASE3
. i 32 |# 5/8° X 1 1/4° BUTTON HEAD SPLICE BULT, RECESSED NUT & F.. A307
36 |# 5/8° X 1 1/4" BUTTON HEAD SPLICE BULT, RECESSED NUT & F.W. A307 : = 2
o p o L I S T — 15 [3/16° SPEC. PLATE WASHER @ 1 3/4 X 3 A36
' 3 3/4° X 6 ROUND HEAD BOLT, F.W., LOCK W, & NUT A449, T436, ASVE BIB2LL, & AS63
16 |6 3/4° X 6° ROUND HEAD BOLT, F.W, LOCK W. & NUT 7449, F436, ASHE BIB.2L1, & AS63 16 - L
. ik 10 |6 X & WooD POST @ 7'-0 SUPPLIED BY OTHERS
10 |6 X 8 wWOOD POST @ 7'-0 SUPPLIED BY OTHERS s —
’ - 5 |6 X & WOOD BLOCKOUTS € 16 SUPPLIED BY OTHERS
5 |6 X 8 wWOOD BLOCKOUTS € 16 SUPPLIED BY OTHERS T e 1o ST
1 |6 X 8’ wOOD BLOCKDUTS e 1’-2” SUPPLIED BY OTHERS

EXPANSION SPLICE FOR: TS4x4x1/4”

@5/8” TAPPED HOLE <2x
9 3/4°\

Vermont Agency of Transportation

RECEIVED

May 16, 2014
and Checked for

CONFORMANCE

BY: Jennifer Fitch DATE: 05/30/2014

ON:

EXPANSION SPLICE FOR: TS8x4x35/16”

TS3x3%x5/16"

TAPPED HOLE

@x

@ 3/4'\\ /
lé' |— __e_g, il_——r h— — T —]
g
AS00 Gr., B v-sg
, 11_9gl
1-113

5/8" NU'ILJ(@ OUTER

TS7x3x3/8"

AS00 Gr. B

SHOP DRAWING REVIEW

OO0 REVIEWED AS REQUIRED BY THE CONSTRUCTION CONTRACT DOCUMENTS AND APPROVED, BUT ONLY FOR
CONFORMANCE TO THE DESIGN CONCEPT OF THE WORK, AND SUBJECT TO FURTHER LIMITATIONS AND
REQUIREMENTS CONTAINED IN THE CONSTRUCTION CONTRACT DOCUMENTS.
REVISE AND RESUBMIT

[ REJECTED

[ FURNISH AS CORRECTED

CORRECTIONS OR COMMENTS MADE ON THE SHOP DRAWINGS DURING THIS REVIEW DO NOT RELIEVE CONTRACTOR
FROM COMPLIANCE WITH REQUIREMENTS OF THE DRAWINGS AND SPECIFICATIONS. THIS CHECK IS ONLY FOR REVIEW
OF GENERAL CONFORMANCE WITH THE DESIGN CONCEPT OF THE PROJECT AND GENERAL COMPLIANCE WITH THE
INFORMATION GIVEN IN THE CONTRACT DOCUMENTS. THE CONTRACTOR IS RESPONSIBLE FOR: CONFIRMING AND
CORRELATING ALL QUANTITIES AND DIMENSIONS; SELECTING FABRICATION PROCESSES AND TECHNIQUES OF
CONSTRUCTION; COORDINATING HIS WORK WITH THAT OF ALL OTHER TRADES; AND PERFORMING HIS WORK IN A

SAFE AND SATISFACTORY MANNER.

Job Number: _ 5751‘7

VHB

Reviewed By:

Mcere -

Date: ._S _jd_./l,l

| SHEET 4 oF 4

| HOLES ONLY) ITEM #: 621.72
________ RS TACK WELD APPROVED BY:
L ——¢—~{—-——-.-.——11!11—- LA S |

_1_1! 11(

12_1 40 1“2‘ 44
——————— == {j W/ 4° BEND W/ 4° BEND
—®-—9¢— _Lj—-w—~ FOR WW 4 "\ FOR WW 4

4 RAIL BRIDGE RAIL T0 GUARDRAIL, TRANSITION

ROCHESTER, BRF 0162 (17) VT RTE 73 (MAJOR COLLECTOR), BRIDGE NO : 16, OVER CORPORATION BROOK
TOWN OF ROCHESTER, COUNTY OF WINDSOR, VT

R[NO. | DATE DESCRIPTION BY| R [NO.| DATE DESCRIPTION BY
E EP| E
\4 Vv
i"“‘mz DRAWN 5/15/14
i gigCERTIFIED
¥ ELDERLFEE, INC. LY <FABRICATOR| 2::&'%[; 5/15/14
QY 0AKS CORNERS, NEW YORK 14518 u :
) E-Mail: dlong@elderlee.com SCALE | SCHEMATIC
Tel:815—-789—-6670 Fax:315-789—-6616 DRAWING NO. F.R.L. ROCHESTER, TR16



Jfitch
CheckForConformanceFields


